33.

35.

39, x

34,

36.

40. 3y

M )y

&

3.6

41. v -

43,

45,

47, x-

:l

[LAN)

42,

44,

46, 4,

48,

[



G = A v TE 09=4 41 "Lf 0=Ai7 ¥ CTT 0= X 1z

‘0% 6 <Y *6L

g:]! € —X= <A L]

sapqeues omg ur samenbauy pue suonenbg maunry g ssdeysy 0ET




3.4  The Point-Slope Forn 211

43.
13, 2.3 14.

h

'
L
15. (2.4), = 16. (4.6, - el
s ¥ JJ'
i f’
Fo "
s .
17. (2 18. (1.4 &
&
P
+
¥
19 2. 5) 20. 3
2 44, i

) i,
21. 22. 1. =5 B 3 3 *.

23, y—3=2(x-35) 2. o+ 2= =] i

25, v — 3 26. v=-x+5

[ ]
.
tn
b

- - \,‘
27. - T - i 2B - — .:| =+ 4] “i“
- l‘\“ I.
e
! n igh ¢ of p 2 B
l Wri s il infee; . TN
See Example 2 Yw
: 29, (1,3), (2.5 30. (2.5),(3.9
3 (L 1,22 3. (—1, 1) (1,
! 46. i
33 3 34, 51 (% 15 “ :
{ 35, (-2 . 36. 3 o 5 T & .
i -
2. (=2,0), 60, ) 38. (0. 3L (5. "‘-\.
NS
i £ b
] 39, 2 T &) a0, &1 (=T b .
, ~
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Warm-Ups W

True or false? 1. The formula y = mix — x;} is the point-siope form for & line.

Explain your 2. Itis impossible to find the equation of a line through (2,5)and (=3, 1)

answer.

3. The point-siope form will not work for the line through (3, 4) and (3. 6).
4, The equation of the line through the origin with slope lisy=x

5. The slope of the line 5x + v = 4is 5.

6. The slope of any line perpendicular to the line v = 4x — 315 —_"I_

7. The slope of any line paralle] to the line x + v = lis =1.

g. The line 2x — y = — 1 goes through the point (=2, —3).
g, Thelines2x + y=4andy = —2x + 7 are parallel.
10. The equation of the line through (0, 0) perpendicular to v = X isy=—ux

Exercises

Boost your GRADE at mathzone.com! 5. What is the relationship between the slopes of parallel

lines?
| B Practice Problems b NetTutor
MathZong _;‘ b Self-Tests b e-Professors 6. Whal is the relationship belween ihe slopes of p-:nusmlicnlu‘-‘
b Videos lines?

Reading and Writing Afier reading this section, write out
the answers fo these guestions. Use complete SERIENCES,

Write each equation In slope-iniercept form. See Example 1.

1. What is the point-slope form for the equation of a line?

2. For what is the point-siope form used?

3. What is the procedure for finding the equation of a line
when given two points on the line?

4. How can you find the slope of a line when given the
equation of the line?
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15. i 25, v = —3 26.

27. x+y =

]
Ix
o

[

L
-
3
|
<
J
3

16. 4

39. v - X 3 40. =X

17. A
41, y=Zx— - 82, y = =x +-
s 3 ]
. - 3. .3
43. 2 44, v = —=
3 {0 3 f

; A5 gt 46. —x — 90 =
S ) a7. Tv=3 a8.

51. v=0.02x + 0.5 52. 0.2x = 0.03v — (.1

J ran He graph of each fine using 18 v-inlercep aind its slope.
r. .. £

G- EE.y=2x— 1| 54, y=3x—
g rll|:" sHope and v-inter

17 voin b
g \.-IJL'I".'I.":.':.IIfI. Ser || camnle 2

19, 4

. y=_1 .. |

R

24, v= -5
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2. How can you determine the slope and y-intercept from the 10. i
slope-intercept form.
;
- - - ) il
3. What is the standard form o1 the equation of & line? -
| -
4. How can vou graph a line when the equaton is i shopi- — " 3
intercept form? -
5, What form is used in this section 10 W rite an equation of @ -
line from a description of the line Y [
6. What makes lines look perpendicular on 2 eraph? "
— — -
.
Write an equation for each line. Uise slope-intercept form if 3l
possible. See Example I I
7. Vi
{ 12. 4
4 *
- i 5
3
1®
| ——— ——— H
e 3=-2 23 A |
—3 =7 [ 1 2 3 x |
=
- 1] i
! 3
L
B 1 13. A
| 1
5 [
s A
1I "
[
1
B . ——— [
-2 =1 1 7% 4 X — e R——— "
T 1 - —2 i 2 i 1
¥ ! i
= i) L
3 1
| 3
4
9. i 14. v A
| 3
k
T - -
i
|
e S ., -
| ] 1 1 = T g ¥ —— — — — -
. T 2
"1
Zl - -]
-3 A
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48. Draw any line I, with slope —1 What is the slope O Ay fine
b I 1 pre
pe111u:ndi.r.'u]ur1:~.'!" Draw any line [z perpendicular tc L.

49, Draw I, through (— :_ ~3y and (4, 0D What 15 the slope of
any line pmd'ﬂL' to 1,7 Draw b through (1,

paraliel to I

27 so thak 1L 18

through (=4, and (0, 61 W hat is the slope of any
2 Draw [ thr pugh the orngin and paraliel

50. Draw |
line pul'aﬁlm ol
o ly.

4] 4[1-.1 {3, =1k
7 Draw [z through (1.

51. Draw Iy through (—2.
any line pl:lpc.-ndmum o
itis 11-=_mcnd1;1.|'mr w .

What is the slope of

3} 5o thal

Variables

() 14 and (3, 0). What 15 the slope Ol

2 Diraw |2

Diraw [, thr meh

52.

any hine -;u:-.'_noncl-.:.luz o | through the oTigin 5o

that it 18 l,'u.=-T|u_-Lu1ir-.|l-.:.-: w iy

In each case, determine whether the lines I and I are parallel

perpendic wlar or neither

53, Line [, goes through (3, 5) and i4, 7). Line I ppes through
(1L Tyand (12.9)
54 Linel goes through L~ 2 —2yand (2. 00 Line [ goes
through (=2, 5y and (=130
55, Line [} 20&> throug {.4)and (2, 6 Line {2 Z0C5
through (2. =2} 1.
5. Line [| goes throug 4 (=2, 5) and (4, 7). Line /> goes
['nr-nug.-h {2, 4y and (3. 1)
57. Line [, 20¢s through (—1.4) and (4, 6). Line Iz goes
through ( ~ 7.0y and (3. 4}
5g. Line [, gocs through (1. 2) and (1. = 1). Line |- ooes
through (4, 4 and (3, 3.
59, Line [} 205 through (3. 3) and (3, 6). Line [ gOBS through

| :--.“:Jl'ld._.".—:l

60, Line [; goes 1l'||u oh (—3. Ty and (4, 7). Line I goes

through L1 .m-' [—3. '|1_

Solve each problent. oo Examples 8 and 9

Y}-zecond ad dunng the

2004 1 was

61. Super cosk The average cost ol

I*H'\ Super Bowl was $1.3 m ifion, and in
A pilinm Danaw. adage.comb

the slope of the line through {1998, 1.3 and

(2004, 2.4 and interpret your resull.

s R e
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11.

13.

i
—————————l-
3=2-=1 | ;W

=14

15.

17.

12. .r-l..'.'._'|I ihe _‘-'"l'l:!h o the ling thal RS o eacd e of _:'-..:'- Is

Y II'...'l.'I'.'.”I|"'II|:"- 3 amd 4
19. (1.2). (3. &)
30, (2. 5, (6, 10
71. (2,4, (5. — 1)
_-._-T'_.__'_'-:_ EF 22. (3, 1) (o 2)
23, (-2
=l 24. (—1,3).(3.5)
: 25,|—“_-.—.‘1.t.|-5-. i)
26. (—0, — 3. (=1, 1}
97, (=3, 4), (3, —2)
vk 28, (—1. 30 (5 —2

14.

29. :. Sy | S g e

21 I \ 1
! 1 e s 1)
STa=1 1 I 2 —  31.(2.3),12. )

32, (—3, 6). (8.6)
33. (—2. —5). (9, =5

B il

34. (4. =991 . 6B
35, (0.3, 0.9).1 0.1, =03

16. 36. (—0.1, 0.2), (0.5, 0.8)

3 37. The line throngh (1, 11w ith slope =

18.

3B. The line through (2. 3) with slope

Graph the line witl the eiven poml and slope. Se Example 3.

et -
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True or false? 1. Slope is a measurement of the steepness of a line

Explain your 2. Slope is rise divided by run
. 3. Every line in the coordinate plane has a slope.
: answer. d _ 3 _
' 4. The line through the point (1, 1) and the origin has slope |
5. Slope can never be negative
6. A line with slope 2 is perpendicular to any line with slope — 2.
7. The slope of the line through (0, 3) and (4. 0) 15
8. Two different lines cannot have the same slope.
9, The line through (1, 3) and (=35, 3) has zero slope.
10. Slope can have units such as feet per second
i
EY
4 |
i
: r
;’ ]
e In Exercises 7-18, find the slope of each line. See Examples
; t Boost your GRADE at mathzone.com! R
: i : . ul 2.
f - - | I Practice Problems b Met Tutor 7. 8.
i p Zone b Self-Tests b e-Professors
Iy e Vi i
P Videos
. | L
1 '
. 2
Reading and Writing Afier reading this section. write out
;F the answers 1o these questions. Use complete sentences 1 5 4 ; B
1. What is the slope of a line? I .
; 2, What is the difference between rise and run’
. o 1 .
i 3. For which lines is slope undefined? g, 10.
H ' i i
A, Which lines have zera slope?
&
e 5. What is the difference berween lines with positive slope g
- and lines with negative slope’
b |0 i i N
i - | - et -
j e . 2
What is the relationship between the slopes of perpendicular 3 2

lines?




e

51.

53. 2

al.

X

52.

54. 1

56. 3

60.

63. (—3.43) &4, (—33, 47 65.
66. ((), —9) 67. (=236, =5 6B, (R0.6, ()

69. (3.4, B8 70. (4.1, 44 71. - 5

72. | -6, | 73. (0, —99 74. (. )

raphing calculator, wse it to check your grapis,

75. 1 1 1200 76 v=1 30

T7. v = 5l 00 7B, v=

W = 450




3.1

Bﬂﬂﬂynur ERHDE;‘[N&EMI 12. 1 1.8 226 (1, |
| » Practice Problems b Met Tutor 13. % - i A
Mathion: 7 ‘ P Self-Tests b e-Professors
b Videos 14, 3x + 5 \ g 3
15. 0~y + 5 3) 5)
Reading and Writing Afier reading this se Fite o
the answers tor these guestions. Use complete semiences 16. 0 -x + ;| ) (=1, 1
1. What 15 an ordered pair?
HE @ o recTanewiar oot

Plen

2, What 15 the rectangular coordinate system?

17. (1.5
19. (—2. 1)
1
3. What ven o the point of intersection of the 21. =
x-axis and the v-axis? 23, (=1 ._4

25.

4, What is the graph of an equation? 27. (=3,
29, (w
31. (1.4.4)

« What 15 a linear equation in two variables’

« What are intercepts

r.“!].'ﬂ.r.‘frl,l;- each order

pair se that it sarisfies the

eiven

Graphing Lines in the C

18. (4,

20. |

22, |

24, |
26.
28. |
30. |

32, (—

oordinate Plane

22.6)

dinare SVsiem.

|
2, |

5
(0, =2

5,0

_: 7}

—3.04

Use the given equarions to jind the missing coordinates i

equation. See Fxamnple |
7. v= Ir+ 90 2 2
B.y=2w+ 5.8 I, |
9 v= -3 - l following tables
o e (0, 2 ! 3)
3 23, v= -2y +5
4
10 v = - o -
0.y -3x = 3 ! 2 :
.\ L.I
1,y -
y= 1 7 1
*¥=12x + 543 (0 l i 54.9)

34. y =

1 the



